Lwed o &

EHAOBHRILQER)

AHI: -

K I x IS

756 x 2 x y(—z) 7
3x P D (D)

9 x y(_4)x4(x2)2x(_1)(y(_l))(_l)

8X4 « y4(x5 ><)}5)(—2)

S x yS(x(—l) % 35S

HIZh: A7

810 x 100t x (DY

49 x (2 x (D3

26 x5 x y(—3))(—1)

9 x y(—3) x2(x5 )(—2) o 0}4)(—1)

82 x (D3 x 3y

www.snowmath.com



https://www.snowmath.com

‘@*@ a M ORI L 4

A A HI(Ch: A7
) y(—S)(x4 % y(—3))5 8x0 x y6(x4 % y(—z))z
¥15 8x14y2

y20

758 x 3 (D x DY 19 % (2 x Dy

3 x YD (D) 4x°
7 103 )ﬁ
37
9% 32D, DYED 216 % 35 x IND
i 2"
y3

85 X 1A x ) 9 x 1IR3 D
8 9
x50 5y

%3P (x(—l) % 353 22 x y(—z) o2 xyh
30 gy13,,18
XY

www.snowmath.com


https://www.snowmath.com

